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Things to remember
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Vertices and Covertices
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Step 1 Find the center using the midpoint

EXAMPLE:
Vertices: (-9,1) and @ *<ch angcs
p| Covertices: (-2,0) and (-2,2)

(o

_ _ EXAMPLE: |
Vertices: (-8,(Q) and (-842) Ychan grs

p| Covertices: (-4,4) and (-124)
O Center: (-S4t (1) /- O center: (-2et w+a)=€s 4
(e, 2ot (=, 1) = e
Step 2: Find the length of a. @ az center b vevizx @ A= ﬁiﬂé";‘) 2/5’3
a = center to vertex @1) ; @l 1)
Determine a2 az="3 Q= 6
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Step 3: Find the length of b. et b= o covevit
b = center to covertex D b~ cen s T CoNERES Ccé:‘ﬂ o ()
Determine b2 -2 -2, b=
o= b= IV
Step 4: Substitute the values of a2, b2, and (h k) into the formula ve=| @ ( g)s (-4 )
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Vertices and Foci Vertices:((3)-5) and (-,-5) % Chand<d q Vertices: (= §,04)), (-g512J y changed
Foci: (1,-59 and (-5, )
Step 1 Find the center using the midpoint
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Step 2: Find the length of c.

c= center to foci
Determine c?

Step 3: Find the length of a.
a= center to vertex
Determine a?
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® a= center O vevH w
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Step 4: Use the formula c2 = a? — b? to find the value of b2 by S a= \3 5
substituting the values of a? and c? into the formula. Solve for b2, b2= 25 az= l6
: (2- qr-h?* @ - gt-b LL
Step 5: Substitute the values of a2, b?, and (h,k) into the formula @ - Q- 0 it = A
x=m? | o-k)? -y | o=k 9z 25-v i el
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